Roll No:-
Sem- 1/ 11 Diploma Exam 2023 (Odd)
(Common Branch) (Theory)
[Time: 3 Hours] Applied Chemistry -B (T2400103B ) [Max. Marks: 70]

- All questions are compulsory. (H‘l-ﬁ I°E] aﬁaﬁ%p
- Marks are mentioned on the right side of each question. (3/& T+t 7% & T3 3R 3ifdhd fHA ]))

Group (A) (YU -Q)

Q.1  Choose the most suitable answer from the following options. (1*20=20)
ST fadwed Bt gAd ford |): -
I, The number of angular nodes for 4d orbital (4d P& & foru wivitg Aie & e %l)
(a)1 (b) 2 (c)3 (d) 4
ii.  The unit of conductivity is: (ITTEdT B! IHTS 8:)
(a)Ohm (b) Ohm cm (c) Ohm*tcm? (d) None of these
ERLECIERE)

iii. The process in which an ore is heated in presence of oxygen

(a8 Ufshar fors it s 1 SR ot Sufkufa & 7 fapar ST 8))

(@) Roasting (b) Calcination (c) Smelting (d) None of these

(HSH) EASIER)! (TeT) ETH Y BIs T8

V. Which of the following is metallic conductor? (TR H & B UTfedes =Tereb &?)
(a) Aqueous solution of NaCl (NaCl &7 STelId i) () Silver (@I
(b) Fused NaCl (fUerel 31T Nacl) (d) None of these (375 I ®Is a0

V. Which of the following is a correct equation for first law of electrolysis?

(Fafafed & 9 oH 91 saecifeiiy & yga fam & forg gl e 8?)

(a)W=Zct (b)WZ=ct (c) We=2t (d) c=wzt

vi.  Several cells connected form a (Elv_aF I \_{133[ E‘sc %:)
(a) Cell (I (b) Battery (Sc<1)  (c) Tinning (fef=m) (d) None of these (378 § ®Ig sl

vii.  Structure of Methane is (F134 & W= g))

(a) Linear Q1) (b) Trigonal ()@ (c) Angular (@0fI) (d) Tetrahedral (TIEhDI)
viii.  The process of purification of metals by electrolysis is called

(SAFSIAR GRT TSt & YFGHUT B UichaT Hgarra o))

(@) Electrochemistry (b) Electrometallurgy (c) Electrolysis (d) Electrorefining

(EECEEIRE) (Tga g i) (e srowe) (EECRIEE)
ix.  Which of the following has maximum electron affinity?

afaiead o @ forad siftieran sadcid SYdT 87)

(@ F (b) Br (c) CI (d) None
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X. Process of deposition of superior metal layer in inferior metal is called

(P erg & A o1 TR & STHTG BT T B B)

(@) Electrolysis (b) Electroplating (c) Electrometallurgy (d) Electrorefining
(TarEget Sroreres) (ferggar <o) (fargga engeH) (ferggar =Me)
Xi. Loss of electron is called (3@3@7’*[ P! g1 Hedrd! %)
(@) Oxidation (b) Reduction (c) Erosion (d) Electrolysis
(3iTerIepun) (31HI0N) (heTa) (fagd srawe)
Xii.  Galvanization is the process of coating iron with (*\Ic'dﬂnlcrNUI dlg IR |Rd dq;I:I ﬁm%p
(@ Mg (b) Cu (c) Zn (d) Ni
xiii. A lubricant should possess high (Y% Wg® H 3o HHT gH! ATeY))
(@) Volatility (b) Acidity (c) Oiliness (d) None of these
(3TE) GERICAECEIE)) ETH A DIS 1)

xiv.  The purest form of iron is
(@Ie PT I G U 8)

(@) Pigiron (b) Castiron (c) Wrought iron (d) None of these
(@ AgT) EEIR) (frear @) ETH Y DIS o)
XV.  Which of the following is thermosetting plastic (ﬁﬂﬁf@ﬁﬁ@fﬁ:{ AT WW%?)
(@) PVC (b) Polythene (c) Bakelite (d) Teflon
XVi.  Which of the following is more polar? (ARG & | ®1 31fdw ¢dia 8?)
(a) H20 (b) NH3 (€)CO2 (d) None
xvii.  Vulcanization of rubber is done by (Y8R &1 dedb 1B 0T fH T gRT fHaT STaT 87)
(@) S (b)Cl2 )12 (d) Brz
xviii. Duralumin has highest percentage of (SIRTQH H Faifere Uf=d §))
(a) Al (b) Cu (c) Mg (d) Mn
XiX.  Which of the following is a thermosetting polymer? (ﬁ'ﬁﬁf@ﬁﬁ@aﬁ:{ YT OifermR %?)
(@) Rubber (b) PVC (c) Bakelite (d) None of these
ES) (e (Sohage) EEEEIER)
XX.  The number of electron in a given shell is ([Pl 3T U ST & ST B! TBAT B))
(a) 2n? (b) n? (©)n (d) None

Group (B) @q—aﬁ)

Q.2 What do you mean by azimuthal quantum number? 4
(3OTTT SHicH T=T I 3T T IHd 8?)
OR (31YdT)
What do you mean by BOD? 4
CEISEEIPE R EERED)

Page2of4 (T2400103B)



Q.3

Q.4

Q.5

Q.6

Q7

Q8

Q.9

Write electronic configuration of following

a) Cr b) Na c) Cl d) Ar

(afiiad &1 3o e fa-ary fafag|

a) Cr b) Na c) Cl d) Ar)
OR (31YdI)

Ice is lighter than water. Give reason.

@ g q gepl BIdl 8 1 HRUT SATN)

Write monomers of following polymers
a) Teflon b) Polystyrene c) Polypropene d) Neoprene
(afaRad g &1 Tehad ok |
T) CUA o) OTcRe R &t arevidi St i
OR (S1YdT)

Explain hybridization in bonding.
@& Frafor B TRisRT @1 SarReT )

Explain crystal lattice. List the type of crystal lattice

(fohed AfcT &1 au- B3 | fobed Afed & TR &1 It s 1)

OR (31Yd)
Explain water pollution.
CEEFNEIR TR RE)
State Pauli's exclusion principle.
(aicll & 3o RIgid 1 AR B )
OR (31Yd)

Distinguish between electrovalent and covalent bond.
Eaaeiade 3R TgHded g & did 3R Fd1d|)

Group (C) (quﬁ)

Differentiate between thermoplastic and thermosetting plastic.

(UHATETRE® 3R YA Wifed & dig 3iar Fard|)
OR (3{ydn)

Write notes on

a) Smelting b) Slag
(R ey ford
Q) AT &) T)

Describe the determination of total hardness of water by EDTA method

(EDTA faftl gRT 96 &1 $@ HARAT &b FURUr o7 guiF HL 1)
OR (3{ydT)

Describe the method for determining the calorific value by bomb calorimeter.

(FH FARTHICR GRT BAR! A 1 B D1 Al &7 90H HR 1)

Differentiate between intrinsic and extrinsic semiconductor.
. o\ C [aY . .
(3TN 3R TR 3fefaraeds & o SR FaTd|)

OR (31YdT)
Explain Faraday's law of electrolysis.
(@RTS & fagd srgeH & | o s i)
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Q.10

Q.11

50 cc of tap water requires 20cc N/4 HCI for neutralization. Calculate hardness in ppm.

(50 TRFY 9 & Uit &1 FAfsrg B3 & forg 20 Wit w/4 Tafied &t 3mawasdar gl B
Uidies & SRl &t T H1)) OR (3
R

Define ionization. Explain the Arrhenius theory of ionization.

(TR Dl TRUTT B | STIIHRUI & 3R HIT RIGId ! TRAT B )

Write down cell reaction during discharging and recharging of Lead Storage battery.

(i TRl gt & e 3R f=nfofr & SR I ufafsar ford 1)

OR (S1¥YdT)
Write short notes on following-
a) Hydrogen bond b) Aufbau Principle
(FrefeRad R Tfard ey ford-
T) T3S IO S8 oY) a3 Rigid)
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